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Period
Cipher Model Using Algebra

The following message was coded using the process c=p+4. Decipher the message.
CSYV TEWWASVH LEW FIIR GLERKIH XS HSGXSVHIGSHIV.

The following message was coded using the process c=p+14. Decipher the message.
PFWHWGYV QFOQYWBU CT HVS USFAOB SBWUAO QCRS KOG O RSSQWRWBU
TOQHCF WB KCFZR KOF HKC.
The following message was coded with the process c=p+9. Decipher the message.
292714 1518272829 302814 2415 1224131428 2924 28142313 22
14282810161428 321028 1823 282510272910 102724302313 1524
3027 17302313271413 1112
The following message was coded with the process c= p+20. Decipher the message.
2532 2542 25 34 24 29 27 29 40 46 29 36 23 25 39 23 21 34 323523 21402521 24
25322942 2538 4536 3529 34 40 3229 31 2545 35 41 38 39 23 28 35 35 32 35 38
28 35 33 2543 29 40 28 35 41 40 21 34 21 24 24 38 25 39 39
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What is the equation that is modeled by this graph?

5.
This message was coded with the process shown in the graph above:
8209102462310242018102514181024262410914198201821262510
23242520820182123102424619923108202710231419112023186 25
20 19
6. The table below represents the coding process for this message:
46 182424 16102432 503042
a) Find an equation that would fit for this process.
b) Decode the message
Original Position Coded Value
A 2
B 4
C 6
D 8
E 10
7. a) What coding process reverses the alphabet? That is, what is the equation that codes

AasZ,BasY,CasX,etc.?

b) Is this a shift cipher?

c) Is any letter left unchanged by this encoding process?

d) How is the graph of this coding process different from the graph of a shift cipher like
c=p+27?




Answer Key

1.
2.

YOUR PASSWORD HAS BEEN CHANGED TO DOCTOR DECODER

BRITISH CRACKING OF THE GERMAN ENIGMA CODE WAS A DECIDING FACTOR
IN WORLD WAR TWO

THE FIRST USE OF THE CODES TO SEND MESSAGES WAS IN SPARTA AROUND
FOUR HUNDRED BC

ELEVEN DIGIT ZIP CODES CAN LOCATE A DELIVERY POINT LIKE YOUR SCHOOL
OR HOME WITHOUT AN ADDRESS

CODES ARE SOMETIMES USED IN COMPUTERS TO COMPRESS AND RECOVER
IN FORMATION

WILL HELP YOU.

a. c=27-p

b. It is not a shift.

c. No. Each letter is changed.

d. Different slope and y-intercept.



